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Torque

Torque is the rotational

equivalent to force

Torque is represented by
T Haul and is given by
the equation
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Where r is the radius and
F is the force that is

applied perpendicular
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Because Newton's second
Law States f ma and
because torque is the

rotational equivalent to

force we can create an

equation that is its

rotational equivalent
Newton's second Law for

Rotational Motion gives
the equation

I It

where I is the moment
of inertia about the

object's rotation and
2 is the angular
acceleration

Moments of intertia for
common shapes will be

given on exams










































































































Circular Motion

Just as we related
a projectile's distance

velocity and acceleration

with time in earlier
modules we can do the

same with an object's
angular displacement
angular velocity and

angular acceleration if

the object is in circular
motion
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Equations are the
rotational equivalent to

the projectile kinematics

equations
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Rolling Motion

Rolling motion is a

combination of translational
and rotational movement
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The pulley system shown below
uses a frictionless 5 kg
50 cm diameter solid disk
to connect an 8kg hanging
mass with a 10 kg mass
on a 300 incline ramp
a Draw a FBD for the

system

b Find the acceleration of

the 8kg mass
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